Number and Place Value Knowledge Organiser

Key Vocabulary 2-Digit Numbers Compare Numbers
hundreds Tens Ones Tens Ones
2 6 Q0|00 36 =36 Q0|00
@ Q0O equals @ 00O
tens . Q0 Q0
twenty SIx
L 9
ones u
0 H o 26 < 34 3
I H o less than o
zero 0o O30 )
=
place value 24 > 19 m
20 6 greater than m
greater than T
Counting Order Numbers
less than —
Counting in 2s
0|2 |4|6|8|10|12|14|16(18|20 40 41 43 44
order
Counting in 3s | | | | |
partition O[3 |6|9|12|15|18|21|24|27|30
Counting in 5s 37 <39 <42
digit 0| 5|10/15[20|25|30(35|40|45 |50
Counting in 10s 45 48 52 53 61
0/10(20|30|40(50|60|70|80|90 (100 smallest greatest
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Number and Place Value Knowledge Organiser

Read, Write and Represent Numbers to 100

o Tens | Ones
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zero two four six eight ten twelve fourteen sixteen eighteen twenty
one three five seven nine eleven thirteen fifteen seventeen nineteen
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Addition and Subtraction

Key Vocabulary

Knowledge Organiser
Addition and Subtraction Bonds to 20

Add 20 15 +5 =20 > 7+5=12
Total 15 5 20-5=15 12-5=7
Make 20-15=5 7 > 12-7=5
Plus
sun Q20200
BEEEEEERRE LEE L LR
More L+3=7 15-7=8
Altogether
Difference Methods
S ;:ve : Add 2-digit and 1-digit Add 2-digit numbers Subtract 2-digit numbers
ubtrac Tens | O B -
Difference between zr/.\z‘s/.\z“)/.\;o/.\;l/.\;z/.\;a = @nes 34 +28 = 62 6228 = 34
Less I |27 N |6 - 3_-; — %E g - 3 tens and 4 ones
Minus g H add g
Talae awa 27 28 29 30 31 32 33 gg u g O
Mentally Ol’?llly ————— = oo g 2tensand8 ones g
—— Subtract 1-digit from 2-digit a
Column Addition . equals 6 tens and 2 ones becomes
. NN AN [Tens [0 Ho
Column Subtraction z|7 zls 2]9 3:) 3|1 3f 3? o fes ] g 5 tens and 12 ones 5 tens and 12 ones subtract
Estimate 33-6=27 ] %
- g - becomes 2 tens and 8 ones equals
Inverse operation WELNWELN — g% u
Solve problems Zoo® » »n @ B A %%% ] g 6tensand 2 ones | 3tensand & ones

Number facts

Place Value

Addition and Subtraction Bonds to 100

32+ 68 =100
3 tens and 2 ones + 6 tens and 8 ones
= 9 tens and 10 ones = 10 tens =one hundred

2+8=10
so 20 + 80 =100
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Addition and Subtraction Knowledge Organiser

Mental Methods More or Less/ Add and Subtract 1s and 10s
Compare Number Sentences Add and subtract 1s 10 More or Less Add and Subtract 10s
_ | 24+1=25 |30 |40 |50 60|70 80| | | 10| 30 |50 |70 |9 |
b+L4<6+5 24+2=26 w7 [ 57|67 |77 87 07| | 3 [33[6 [ 9]
24 +3 =27
The ones digit stays the same. Tens Ones
|24|25|26|27|28|29|30|31| EE 27
10 less | Number | 10 more aﬂ
5+3=6+2 37-1=36 i + 40
Related facts 37-2=35 ) i ) EEE%%E -
5+4=9s5050+40=90 37-3=34 1 11 21 — :
N N\ N 3333 so Ml |3323SSSSI[$38SS333st
L l l I I ! S8 60 B8 +949494 80000000 08 72
% 33 34 35 36 37 38 34 4L 54
¢ -30
% There are 7 flowers _ Take care when :
Add 3 1-digit numbers in a vase. One ' crossing hundreds: H 42
more is added. A
EEEEN |9| 5| |3 | 1|7 EEEEE Now there are 8 | 86 | 96 |106 | 16 | Crossing hundreds:
+5+3=
flowers. | 74 | 94 | 14 | 134 |
Check Calculations

19 32 +5=82x Spot that 5 tens 37 -4 =41 x Spot that if subtracting

1 3 have been added not 5 ones 4 the answer will be smaller.

19 - 8 = 11 can be checked using 8 + 11 = 19 28 — 26 =12 x Spot that 28 and 26 are very 68 — 40 = 64 x Spot that 4 ones have
close together, so difference won't be 12. been subtracted and not 4 tens.




Money Knowledge Organiser
Key Vocabulary | | Pence Pounds Pounds
and Pence
™ e @ @ @
pound 1p 2p 5p £1 £2 £5
coin 1 penny 2 pence 5 pence 1 pound 2 pounds
o £2? AP S c N
note
= . z Y JE @ (ol
total 10p 50p £10 £20
10 pence 20 pence 50 pence | 10 pounds 20 pounds 50 pounds
amount
Equal Amounts Compare Amounts
change
difference
price
cost
pay : Bl
owe [ £9and50p<£10




Knowledge Organiser

Money

Find the Total

Find the Change

45 + 14
P P

Lucy bought a jigsaw with a 50p coin. How much
change did she get?

50p
40p B

1"1@2’9 | 50p-40p = 10p |
Timek bought a plant and a toy car. He paid with a
£1 coin. How much change did he get?

80p
68p 12p

£1
80p ?

£1 - 80p = 20p




Multiplication and Division Knowledge Organiser

Key Vocabulary Recognise Equal Groups Make Equal Groups
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equal groups

s o
arrays ‘ ‘ ‘ ‘
0066
repeated 2+2+2+2=8apples
4x2=8
multiplication ‘ ‘ ‘ ‘ 2x4=8
‘ ‘ ‘ ‘ 8 apples

times tables AR A Al
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Multiplication and Division

Multiplication from Pictures

Knowledge Organiser

The 2 Times Table

o
o

2 lotsof 4 = 8

4 rows of 10 = 40

10 columns of &4 = 40

B & & GO D D

6 lots of 2 = 12

The 5 Times Table

\AARRARAAN

9 lots of 5 = 45

s fofsfao e s0]sslu]es oo oo

The 10 Times Table

B ® B & B B ®

7 lots of 10p = 70p
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